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8x12+16+2-10=7

=9 +8-10
=94

Ques 4. ANS (C) Solution:
& T ot swen Fretaa 8 -

1 7 13 19 25
A +6 G +6EM 4-6E g «0-6a Y
3 9 15 21 1
C—t8> 12850285 U85 A
5 11 17 23 3
E—i>K+—6>Q—J'§->W*—G) C
Fd: MQO & &M T MOQ 2
Ques 5. ANS (A) Solution:

& T e gEm freag 2 -
10 18 28 40 54

+8 +10 +12 +14

T 2= 54
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Ques 20. ANS (C) Solution:

All cars are automobile but train is entirely different from
both of them. This can be expressed as given in option (c).

Automobile
O—* Train V

Car
Ques 21. ANS (B) Solution:
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Ques 22. ANS (B) Solution:
Total = top + Bottom - 1
Fd = HW + D - 1
26+7-1 =32
Ques 23. ANS (A) Solution:
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Ques 29. ANS (B) Solution:
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Ques 30. ANS (D) Solution:
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Now a wooden spoon is put in a cold ice cream cup, so there
is no heat transfer because the wood is a bad conductor of
heat, so its use will not be cold.
Ques 32. ANS (C) Solution:
ST BT TRTHAT 70 | 90% BIeTT 31
Organic acids are tartaric and elemental acids, comprising
about 70 to 90% of total acidity.
Ques 33. ANS (A) Solution:
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Ques 34. ANS (A) Solution:
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India's first School of Logistics, Waterways and
Communications has been started in Agartala, Tripura. To
enable the rich pool of talent in the sector to become world
class experts in the transport and logistics sector.
Ques 36. ANS (D) Solution:
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Gross Domestic Happiness (GDH) is the result of unread
remarks made in 1972 by Bhutan's fourth dragon king,
Responsible Singe Wangchuk. Bhutan is one of the poorest
countries in the world, but this measure of prosperity takes
into account that money is not everything.

Ques 37. ANS (B) Solution:
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In full duplicate, the transmitter and receiver can transmit
and receive each other's information at the same time. When
the first device transmits a signal, the second device can also
receive it and transmit the signal to it simultaneously, thus
both the devices can transmit and receive simultaneously.
Telephone and mobile are the best examples of full Duplex
communication.

Ques 38. ANS (C) Solution:
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Assembly language and machine architecture often have a
close relationship. Another computer program language was
created by computer scientists to overcome the difficulties
faced in preparing programs by machine language.

Ques 39. ANS (B) Solution:
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Amalgam is an alloy of mercury with another metal., Which
can be a liquid, soft paste, or solid, depending on the ratio of
mercury. They are formed by means of alloy bond.

Ques 40. ANS (B) Solution:
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Graphite is a polymorph of carbon. Its structure is hexagonal.
This dark brown non-metal color is found in California, New
Zealand, Siberia and Italy. There is a special glow in it and it is
a conductor of electricity and heat. Its relative density is 225.
It burns at 700 C to form carbon dioxide.

Ques 41. ANS (C) Solution:
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The Indian Space Research Organization (ISRO) partnered
with the Indian Navy to take forward the Gaganyaan mission.
ISRO with Indian Navy conducts initial recovery test of Crew
Module.

Ques 42. ANS (D) Solution:
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NS Kannan, the current MD and CEO of ICICI Prudential Life
Insurance, is going to retire from his post at the end of his
term in June 2023. His successor will be Anup Bagchi, who is
an executive director at ICICI Bank.

Ques 43. ANS (A) Solution:
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The pluralistic theory of sovereignty was a reaction to the
demonic or legal theory of sovereignty. The demonic
principle is the supreme union for the state. All other
organizations are the state they are building and their
existence depends on the will to sovereign power. The
pluralist theory rejects this and tries to establish that there is
no single source of authority that is all capable and
comprehensive.

Ques 44. ANS (C) Solution:
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The Court of Appeal in Prison Cases was the first United
States court established by the United States of America. The
Judiciary Act of 1789 created the first lower federal courts
established in accordance with the Constitution and the first
Article Ill provided for judges.

Ques 45. ANS (A) Solution:
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The voting majority constitutes a majority of more than 50%
of the members present and voting. A simple majority is the
most consumed form of majority in parliamentary business.
When the constitution or law does not specify the type of
majority required, a simple majority is considered for voting
Ques 46. ANS (B) Solution:
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The Attorney General of India is the Chief Law Advisor of the
Government of India and the principal advocate of the
Government in the Supreme Court of India, the Attorney
General of India is appointed by the President of India under
Article 76. They have the right to participate in any court of
the country during the discharge of their duties, although
they do not have the right to vote.




Ques 47. ANS (A) Solution:
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The stupa is a spherical mound shaped structure that is used
to hold Prayag sacred Buddhist relics. The Stupa Samadhi,
built as a memento on the relics Atharvar Chita, was an
ardkar tila. This stupa has also been called Chaitya.

Ques 48. ANS (C) Solution:
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Skandagupta, the son of Kumar Gupta, grosses his empire as
the ruler of the Gupta empire, and is considered the last of
the great Gupta rulers. He defeats Pushyamitra but is then
threatened by Huna, also known as White Swan.

Ques 49. ANS (D) Solution:
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Guru Gondi Singh was born on 22 December 1666 in Patna,
the home of the ninth Sikh Guru, Guru Tegh Bahadur and
Mata Gujri. In 1670, his family returned to Punjab. In March
1672, his family moved to the Chakka Nanki place in the
Shivalik Hills of the Himalayas. This is where his education
started, he studied Persian, Sanskrit and learned military skills
to become a warrior. Chak Nanaki is now called Anandpur
Sahib.

Ques 50. ANS (A) Solution:
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The United Nations General Assembly has designated 10
February as World Pulses Day to highlight the importance of
pulse crops.

Ques 51. ANS (C) Solution:
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Edward Zaw, Ellenborough was a British Tory politician. He
was four times President of the Board of Control and also
served as the Governor General of India between 1842 and
1844. At the same time Sindh merged into the British Empire.
Ques 52. ANS (D) Solution:

Browing of paper in old books is caused by oxidation of
cellulose. This phenomenon is called as foxing (stains of
Reddish brown colour).
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Ques 53. ANS (C) Solution:

Tip of match contains red phosphorous. Red phosphorus is
an allotrope of phosphorous.
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Ques 54. ANS (D) Solution:

When the sunlight falls on the ocean, components with
longer wavelength (red, orange and yellow) are absorbed
more strongly by water than shorter wavelength components
(blue) . So it is blue light that gets returned / scattered.
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Ques 55. ANS (A) Solution:

Noise pollution is measured in Decibels.
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Ques 56. ANS (C) Solution:
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Surbhi Jakhmola has become the first woman officer to be
posted in BRO. Nalin Negi has been appointed as the CEO by
BharatPe. Shiva Chauhan has become the first woman officer
to be posted in Siachen.
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In FY 2023, Russia has become India's largest importer of pig
iron. Russia has become the seventh largest trading partner
of India. Biography of Vladimir Putin, Putin His Life and
Times, written by Philip Schott.

Ques 58. ANS (D) Solution:
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Union Minister Nitin Gadkari unveiled the advanced drone air
traffic management system "Sky UTM", which is the most
state-of-the-art unmanned traffic management system in the
world. It is capable of handling 4,000 flights per hour and
96,000 flights per day.

Ques 59. ANS (B) Solution:
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90 Maidams have been unearthed and the royal tombs at
Charaideo have been preserved. These tombs are seen as a
show piece of the mound burial tradition of the Ahom
community. The Maidam consists of one or more chambers
within which is a domed structure covered with mud.
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Bora, originally defined as a very strong cold dry air that
flows from the northeast to the Atriatic region of Italy,
Slovenia and Croatia. It is most common in winter and flows
when cold air crosses the mountains from the east.




Ques 61. ANS (C) Solution:
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Kaveri is a navi flowing in Karnataka and northern Tamil
Nadu. It originates from the mountain Prahmagiri of the
Western Ghats. Its length is usually 800 kilometers. The
Kaveri River flows into the southeast and joins the Bay of
Bengal. Simsa, Himavarti, Bhavani are its tributaries.
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This submarine base built with the help of China has been set
up at Pekua in Cox's Bazar. On Monday, Prime Minister
Sheikh Hasina inaugurated the submarine base named 'BNS
Sheikh Hasina' from her official residence Gana Bhavan.
Some six submarines and eight warships can be deployed at
a time in this base built at a cost of $1.21 billion.

Ques 63. ANS (C) Solution:
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Laxman Rawat of Petroleum Sports Promotion Board won the
NSCI Snooker Open 2023 against Aditya Mehta. PSPB's
Laxman Rawat 'Boulkline' emerged victorious in the NSCI All
India Snooker Open.
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Rajasthan became the first state to pass the Right to Health
Bill in the Legislative Assembly. Under this, the residents of
the state will be able to avail free OPD services and IPD
services in all public health facilities as well as in selected
private hospitals.

Ques 65. ANS (D) Solution:

The Centre constituted the high-level committee on July 16,
2019, for recommending measures to implement the Clause
6 of the Assam Accord. A high-level committee on Assam
Accord's Clause 6 on 25 Feb 2020 submitted its report to
Assam Chief Minister Sarbananda Sonowal in Guwahati. The
committee, headed by retired Justice Biplab Kumar Sharma,

gave recommendations and measures to implement the
Clause 6 of the Assam Accord. Other members of the
committee -- state government ministers and top officials of
the state government -- were present on the occasion.
Assam Accord was signed between the All Assam Students
Union (AASU), Union government and Assam government on
August 15, 1985, in the presence of then prime minister Rajiv
Gandhi.
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Ques 66. ANS (A) Solution:
DNA (Deoxyribose Nuclic Acid) is a genetic material in most
of the organism. It contains genetic information in the form
of nucleotides (AT, G, C) sequences. DNA have double helical
strands structure. DNA is one of the three major
macromolecules that are essential for all known form of life.
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Ques 67. ANS (C) Solution:
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Ques 68. ANS (C) Solution:
Nuclear radiations are emitted by fusion of nuclear particle in
nuclear radiation. These reactions are very harmful for skin
and may cause the skin cancer.
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Ques 69. ANS (A) Solution:
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Indian opener Shubman Gill was awarded the ICC Player of
the Month award on Monday. Shubman Gill won the award
beating compatriot Mohammad Siraj and New Zealand
opener Devon Conway.
Ques 70. ANS (C) Solution:
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Sakshi Malik is an Indian woman wrestler. He has won a
bronze medal at the 2016 Summer Olympics Olympics in
Réiodi Generia, Brazil. She is the first female wrestler to win
an Olympic medal for India.
Ques 71. ANS (D) Solution:
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Ques 72. ANS (B) Solution:
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Ques 73. ANS (D) Solution:
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Ques 74. ANS (A) Solution:
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Ques 75. ANS (B) Solution:
P (256)% — (144)*
112

(256 4+ 144)(256 — 144) 400 x 112
112 112
Ques 76. ANS (C) Solution:
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Ques 77. ANS (A) Solution:
1 1 2
AT 3l g = 2,009 2B = F — FT — = 6
’ 3 4 3
L 6 x— (18 x6) =108
18 - -

ya: 3nfle e — 108

Ques 78. ANS (D) Solution:

T Fa1 BT 311G = 8x IY AT AT BT 31 : ox T

8x +9x = 68 — 17x = 68 — x = 4

10 T ST ST 3T HT 3TUTT = (8x + 10) : (9 + 10)
(8 x 4+10): (9 x 4+10) = 42:46 = 21:23

Ques 79. ANS (A) Solution:

al p=Vl+a+l—a. T, p* =(1+a)+(1—a)

+2\,|'] —a?‘

= p*=2+21-g* =242 ’I—%=l+2x%

=2+D)=3=p=43.
Ques 80. ANS (A) Solution:

HH Y8 W = Z x id fawre. 3@, Wi =?(xx—2)

100
i foramo =z§4i wfit farto.
240 240 240x4 240
— =2 T2

&= (3_‘,/4) X 3x X
320 240
:T_T=2:2x=80:>x=40.

3
2 e =?(Zx4oj wfa ffme = 2 30 wfa faurro,
Ques 81. ANS (C) Solution:
s fFuffa o9 = 2 x
314, fasha g =?%,3Tﬁ=mw;,.

100 2x 20y
L wA-gE =% — —) z
e (90 ) 3 )

27

20x )

~
=

1 fawa- e - T x, Ad: A :?L_\ X =2
(7x 2 \ i
I % = —.‘-X»-7 % 100 ;""o 35«)“
(27 20x

Ques 82. ANS (C) Solution:
AT St g 3 dur 4o 2ag

3z +6 3_>15m+30_163+24—>m_6

dr+6 5

Ques 83. ANS (B) Solution:
T A,¥ <, 2 g 3 ey frw wn ¢

B,¥ 3, 3 WE 3 fere frw e &

e % e fHaw s &

A:B:C=(£X£J:(£xijz(£x1-]=£;§;Ly.
6 6 3 3 2 - 36 9 2

=1:4:18.
Fe &9 = ¥ 46000.

T, BH N =% (46000x%j =7 8000.

Ques 84. ANS (B) Solution:
HAT A it A= 7= = x fawo.
atfires T, 3ifes feeamo (e 3rUTd )
Ifures fam, atfues faramo (e 3ruma)
T 15 :18]..9990.
for g 3'0}..2700.;(
s (15x9xx) = (18x30x2700)
_ (18x30x2700) _ 0300 fapme.
(15%9)
Ques 85. ANS (C) Solution:




A1 fea w5 =Lm3m1ﬁ:=t$ramf -

2

BEiofamadd = (—;xlO] 3
2) 1
ﬁqm'd:[l—gj—g
g F14 36 4 7 e

—1% FEHAAFT@E =17 H
1 18 1 "

3 F9 T A T E =(IxTx§] fad-6efmy
a1a: 99 FE H A 37 6 o H 0,

Ques 86. ANS (A) Solution:

] 9 3
A+ B) %11 H0 ooty Jse Py S
QL BT o R = (12+|5J 60 20
2
(A4 + C) &1 199 & F4 ( '1—i=;
12 20/ 60 15
2 U H 9 T W = (3 2]=£.
20 15) 60
6 9O H W T W = (]7 3)=£.
60 20

=153

3
¥4, (A + B) B ard & 5 30 TTH 1 U ey §
3@: AT TE = (6 + 1) WU = 7 wu
Ques 87. ANS (A) Solution:

S =ﬂ fapto/amaT — 30 fepsfto/ameT

= sy a oy = [mﬂ] P g

=75 faito/guay

= T = [7sx~j feptto sz
= 45 fasitorauva.
R A1 e 7 sirea T = (45;75) faptito ez
= 60 fasito quay,
Ques 88. ANS (D) Solution:

A WS & e = ¢ e a9
(x+122) (\+210)

= 25x+3050=17x+3570

17 25 R
= 8x =520 = x = 65 e,
IS W =
_(65+122 187
= ©34122) trevgo =| 7J Weydo

(l IX—] feptitoqua = 22 ﬁ:ﬁo/qu;_q
= 39.6 foFttomuzy,
Ques 89. ANS (A) Solution:

T e i e = x feadto e, @, ware &1 i =§
fereito eer,

Ay fd = [ 4—] fopfio/mmar = o8 f?f'»ﬁor'érﬂa.

T4, AHETE fd ='—— fertitomuay = | 5 fafsiio/soay,
: 32‘_1533\—3()::_10
.. Fr1 1 7 = 10 fawtosuay,

Ques 90. ANS (C) Solution:

g wEe W &1 5 fEmo H1a ¥ Y g9 THE F 3
famo = fendl 2.

4 4 7oA
-7 [(180x5) +(200x3] =¥ (900 + 600) = T 1500

fama 569 = 7 (210 x 8) = F 1680
@M - 7 (1680 — 1500) = ¥ 180

['ﬂ mo} 6=12%

Ques 91. ANS (D) Solution:
AN = F 2500, Hlo A =¥ 1650, T = 6 7.

[moxlﬁso]o/ R = 11% I,
2500 6

@, YA = ¥ 6875, TG = 6 T4, T =11% i,
.. Hlo =TS '

=7 [6875}(6)(11!%5] =7 @ =¥ 4537-50.
Ques 92. ANS (C) Solution:
AT GouE = ¥ x. 7@
5 ) x
TR =1 = —_x2|=2=.
¥ [xx 100 10
5 2
hgfE == =7 xX(H—J -x
100
I ) ) . j 7 Ax
20 20 400
Alx X _ 35 (41x—40x) = (35%400)
400 10 _, o _14000.
. q@HA =% 14000.

Ques 93. ANS (A) Solution:
A=lbau A' = (@xlj Sl 1B,
100 2
fre  ofg =(%1b—lb)=%1b.
aa%a § gfe %=(%be%x100J%=5()%_

Ques 94. ANS (C) Solution:

s ()
[ERONE)

=[ 27 " 64 g IZSJ 3

1000 1000 1000
_(2;6] W:(ﬁ)’ =1
~ L1000 10 g

R s o = e =L A

T = w9 ‘ | :

=6a2=‘l:6 (SjJaﬂu'm (% ]aﬂtﬁzt

25

=% af Tt = 2-16 0 HX

Ques 95. ANS (D) Solution:
I QR T B 25 Hiex g T HRAT S SN R A A T BT
g=2057




S R A B 1000 Hiex T T IRAT S ITNRAA T
HAE

(% X 1000) 7t = 900 w.

3d: B.API 100 Hiex gaTg

Ques 96. ANS (A) Solution:

T e H 7x24 GBI B |

154 11
SMIETR = o= o =15

Ques 97. ANS (D) Solution:
Max. value of a 8in 8 + b cos@

= y/a? + b? Max. viaue of 24 8in + T cosf

24 sinf + Tcosf + (/(24)2 + (7)?2 = 25

Ques 98. ANS (A) Solution:
by line property,
60° + 4x + 40° = 180°

= 4x = 80°
= x=20°
Ques 99. ANS (B) Solution:
Elﬁl'-ﬂ_d?ﬂ?:
¥ 2011
350 — 260 900
340 — 350 900 or
FI'ETz-O‘I-‘-l—:v (T) x 100 ﬁ 36/0

Ques 100. ANS (B) Solution:
Suppose the average run
after 18th innings was A

According to the question

18A+98
=——=A+3
19
= 18A +98 = 19A+57
A =41

. The Required Average
= 41+3 = 44 ans.




